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Work out the answer to these subtraction sums.

a) 115-1-= 114 d)220-1-= 119
b) 195-4-= 191 e)113-6= 107
c) 267-5=| 262 f)242 -7 = 235

Assess here the strategies the children are using. Can all children count back accurately in

ones with numbers over 100? Can children cross boundaries of ten and hundred when
counting back?

Prior Learning:

G) I feel

Mdition « Subtraction

Work out the answer to these subtraction sums.

a) 125-10=| 115 d) 206 - 10 = 196
b) 263-10= 253 e)301- 10=| 291
c) 159-20= 139 f)211-20-= 191

Assess here the strategies the children are using. Can all children count back accurately in
tens with numbers over 100? Can children cross boundaries of hundred when counting
back? Are the children able to count back in multiple of ten?
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Work out the answer to these subtraction sums:

a) 134 -100 = 34 | d)345-200=| 145
b) 305-100= | 205 | e)525-110=| 515
c) 290-200= [ gg | f)356-220:=[ 134

Can all children count back accurately in hundreds with numbers under 1000? Assess if
the children are ready to partition amounts into hundreds, tens and ones o count back in
chunks.
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a) 89-72 = 17

+10 +7

72 82 89

b) 151 -136 = 15

The children should demonstrate that for these questions they can count on from the
lower amount up to the larger amount to find the difference. This is modelled on the
number line above. The children should be counting on mentally.
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Show me how to work out:
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a) 283-131=152

200-100 =100
80-30=50
3-1=2

b) 232-112 =120

h t 0
200+ 30 +2
100+ 10 +2
100+20+0

The children should demonstrate understanding that the 3 digit amounts can be
partitioned to be subtracted. Look at the children's understanding and layout of their
partitioning to help decide which activity will be most suitable in Question 5 lesson. .
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Show me how to work out:

a) 89 -45 =

T
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8
4
4
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b) 456 - 215 =
H T 0
4 5 6
2 1 5
2 4 1

If children are demonstrating the accurate use of the column method for subtract, ensure
that they can clearly talk through what they are doing and using the correct place value

vocabulary.
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James is presented with this sum.
397 - 112

He approximates the answer. Circle which approximation is the most
accurate:

500 400

The children should show understanding that 397 is close to 400 and
112 is close to 100, therefore 400 - 100 is 300.
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Fill in the missing boxes in these sums.

+ 26

0| 67 89

b) 256 +

388

132 |

The children should demonstrate understanding of counting on to find the difference or
that the amounts they have in the sum can be subtracted from the answer to help them to
find the difference.
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Holywell Primary School has 298 pupils altogether. 12 pupils are absent
and 61 pupils are on a school trip. How many pupils are at school?

pupils




